Piecewise Lesson 2.notebook January 14, 2020

PIECEWISE FUNCTION BACKWARDS

STEP:

Replace y to find x:

-You need to choose the right function by looking at the constraint of x’s

Ex: A few people want to pave their driveway. The cost of paving depends on the area that
needs to be covered. The function f(x) describes the cost of paving ($) ag.ording to the area x
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Question 1: if Richard’s driveway is 25 m?, how much will he have to pay to have it paved?
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Question 2: If Marla’s driveway is 24 m?, how much will she have to pay to have it paved?
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Question 3: If Jimmy’s driveway is 34 m?, how much will he have to pay to have it paved?
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Question 4: If Jennifer’s driveway is 35 m2, how much will she have to pay to have it paved?
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